
Name: Date:
Class:Teacher:

Multiplication 511
Why was the Tomato blushing? Because he saw the salad 
dressing.

Remember to carry any tens into the next column.

1. 9. 17. 25. 33.

2. 10. 18. 26. 34.

3. 11. 19. 27. 35.

4. 12. 20. 28. 36.

5. 13. 21. 29. 37.

6. 14. 22. 30. 38.

7. 15. 23. 31. 39.

8. 16. 24. 32. 40.

86 53 49 54 52

23 46 80 83 16

30 32 84 62 34

59 53 20 35 19

64 95 39 71 92

83 16 30 32 84

62 34 59 53 20

35 19 64 95 39

2 3 6 2 4

8 3 4 7 9

7 5 4 2 7

4 5 4 3 6

3 8 3 9 4

7 9 7 5 4

2 7 4 5 4

3 6 3 8 3

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×
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Answer Key Date:
Class:Teacher:

Multiplication 511
Why was the Tomato blushing? Because he saw the salad 
dressing.

Remember to carry any tens into the next column.

1. 9. 17. 25. 33.

2. 10. 18. 26. 34.

3. 11. 19. 27. 35.

4. 12. 20. 28. 36.

5. 13. 21. 29. 37.

6. 14. 22. 30. 38.

7. 15. 23. 31. 39.

8. 16. 24. 32. 40.

86 53 49 54 52

23 46 80 83 16

30 32 84 62 34

59 53 20 35 19

64 95 39 71 92

83 16 30 32 84

62 34 59 53 20

35 19 64 95 39

2 3 6 2 4

8 3 4 7 9

7 5 4 2 7

4 5 4 3 6

3 8 3 9 4

7 9 7 5 4

2 7 4 5 4

3 6 3 8 3

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

172 159 294 108 208

184 138 320 581 144

210 160 336 124 238

236 265 80 105 114

192 760 117 639 368

581 144 210 160 336

124 238 236 265 80

105 114 192 760 117
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